BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE AND PAVING FACILITIES AND APPURTENANCES TO SERVE JUBILEE SECTION 11
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 18, 2024
LIA ENGINEERING, INC.
E. MURPHY
DECEMBER 19, 2024

BIDDER NAME	BASE BID
1) CROSTEX CONSTRUCTION INC.	\$1,765,000.00
2) TEXAS KB UTILITIES, LLC	\$1,841,000.00
3) CE BARKER LTD.	\$2,350,827.22

2542-2411 (9.2)

CALENDARS TIME - 125/140

12/19/2024

I, Kyle T. Kaus, PE, hereby certify these bid tabulations to be true and correct.



CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE AND PAVING FACILITIES AND APPURTENANCES TO SERVE JUBILEE SECTION 11 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477

CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS DECEMBER 18, 2024
LJA ENGINEERING, INC.
E. MURPHY
DECEMBER 19, 2024

2542-2411 (9.2)

			1) CROSTEX CO	NSTRUCTION INC.	2) TEXAS KB U	ITILITIES, LLC	3) CE BAF	RKER LTD.
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
JUBILEE SECTION 11 WATER ITEMS 1. 8" PVC WATER LINE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING FITTINGS, COMPLETE IN PLACE	LF	2897	\$36.00	\$104,292.00	\$38.75	\$112,258.75	\$35.00	\$101,395.00
 RESTRAINED JOINT 8" PVC, WATER PIPE, AWWA C-900, DR 14, CLASS 305, ALL DEPTHS, INCLUDING ALL RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE 	LF	881	\$51.00	\$44,931.00	\$46.35	\$40,834.35	\$65.00	\$57,265.00
3. 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	6	\$1,830.00	\$10,980.00	\$1,900.00	\$11,400.00	\$2,000.00	\$12,000.00
 FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, LEAD AND FLUSHING VALVE AND TRENCH SAFETY, COMPLETE IN PLACE 	EA	7	\$5,200.00	\$36,400.00	\$5,640.00	\$39,480.00	\$6,000.00	\$42,000.00
REMOVE AND DISPOSE OF EXISTING PLUG AND CLAMP WITH BLOW-OFF VALVE AND MAKE 8" WET CONNECTION, COMPLETE IN PLACE	EA	3	\$1,800.00	\$5,400.00	\$540.00	\$1,620.00	\$1,000.00	\$3,000.00
6. TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE SUBTOTAL JUBILEE SECTION 11 WATER ITEMS	EA	3813	\$0.05_	\$190.65 \$202,193.65	\$0.10	\$381.30 \$205,974.40	\$0.01	\$38.13 \$215,698.13
JUBILEE SECTION 11 SANITARY SEWER ITEMS 1. 8" PVC SEWER PIPE, ASTM D2241, SDR 26, CLASS 235, 0'-8' CUT, COMPLETE IN PLACE	LF	766	\$39.00	\$29,874.00	\$55.30	\$42,359.80	\$75.00	\$57,450.00
 8" PVC SEWER PIPE, ASTM D2241, SDR 26, CLASS 235, 8'-12' CUT, COMPLETE IN PLACE 	LF	1178	\$43.00	\$50,654.00	\$55.30	\$65,143.40	\$85.00	\$100,130.00
3. 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, CLASS 235, 12'-16' CUT, COMPLETE IN PLACE	LF	1392	\$48.00	\$66,816.00	\$55.30	\$76,977.60	\$95.00	\$132,240.00
 PRECAST STANDARD SANITARY SEWER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (8" DEPTH), INCLUDES INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE 	EA	21	\$3,000.00	\$63,000.00	\$2,940.00	\$61,740.00	\$4,500.00	\$94,500.00
5. EXTRA DEPTH OF SANITARY SEWER MANHOLE, (OVER 8' DEPTH), COMPLETE IN PLACE	E VF	67	\$300.00	\$20,100.00	\$162.00	\$10,854.00	\$400.00	\$26,800.00
6. "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	1357	\$49.75	\$67,510.75	\$60.65	\$82,302.05	\$110.00	\$149,270.00
7. "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, STACK, WYE, PLUG MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	16	\$1,570.00	\$25,120.00	\$1,315.00	\$21,040.00	\$2,500.00	\$40,000.00
8. STANDARD 8" SANITARY SEWER DROP ON M.H. (0-3'), COMPLETE IN PLACE	EA	1	\$938.00	\$938.00	\$1,030.00	\$1,030.00	\$1,500.00	\$1,500.00
9. CONNECT PROPOSED 8" PVC SEWER PIPE (CORE DRILL) TO EXISTING SANITARY SEWER MANHOLE, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$2,040.00	\$2,040.00	\$2,000.00	\$2,000.00
10. TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE SUBTOTAL JUBILEE SECTION 11 SANITARY SEWER ITEMS	LF	4849	\$0.10 __	\$484.90 \$326,497.65	\$0.10	\$484.90 \$363,971.75	\$0.01_	\$48.49 \$603,938.49
JUBILEE SECTION 11 STORM SEWER ITEMS 1. 24" RCP, STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, COMPLETE IN PLACE	LF	2397	\$83.00	\$198,951.00	\$96.70	\$231,789.90	\$150.00	\$359,550.00

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE AND PAVING FACILITIES AND APPURTENANCES TO SERVE JUBILEE SECTION 11 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS DECEMBER 18, 2024

LIA ENGINEERING, INC. E. MURPHY DECEMBER 19, 2024 2542-2411 (9.2)

				1) CROSTEX CO	INSTRUCTION INC.	2) TEXAS KB	UTILITIES, LLC	3) CE BAR	KER LTD.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	" RCP, STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, COMPLETE IN ACE	LF	248	\$103.00	\$25,544.00	\$119.00	\$29,512.00	\$250.00	\$62,000.00
	" RCP, STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, COMPLETE IN ACE	LF	15	\$186.00	\$2,790.00	\$218.65	\$3,279.75	\$350.00	\$5,250.00
	PE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, CLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	18	\$3,700.00	\$66,600.00	\$2,875.00	\$51,750.00	\$4,500.00	\$81,000.00
5. ST/	AGE I STANDARD 5' TYPE "B-B" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	18	\$2,500.00	\$45,000.00	\$1,370.00	\$24,660.00	\$2,000.00	\$36,000.00
6. ST/	AGE II STANDARD 5' TYPE "B-B" INLET, COMPLETE IN PLACE	EA	18	\$1,110.00	\$19,980.00	\$2,590.00	\$46,620.00	\$2,400.00	\$43,200.00
7. ST	AGE I STANDARD 10' TYPE "C-1" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$3,000.00	\$6,000.00	\$1,470.00	\$2,940.00	\$2,000.00	\$4,000.00
8. ST/	AGE II STANDARD 10' TYPE "C-1" INLET, COMPLETE IN PLACE	EA	2	\$2,200.00	\$4,400.00	\$2,940.00	\$5,880.00	\$3,000.00	\$6,000.00
	NNECT PROPOSED 24" RCP STORM SEWER TO EXISTING TYPE "C" ANHOLE, COMPLETE IN PLACE	EA	1	\$1,250.00	\$1,250.00	\$1,440.00	\$1,440.00	\$2,500.00	\$2,500.00
	NNECT PROPOSED 30" RCP STORM SEWER TO EXISTING TYPE "C" ANHOLE, COMPLETE IN PLACE	EA	1	\$1,300.00	\$1,300.00	\$1,440.00	\$1,440.00	\$3,000.00	\$3,000.00
	INNECT PROPOSED 42" RCP STORM SEWER TO EXISTING TYPE "C" ANHOLE, COMPLETE IN PLACE	EA	1	\$1,400.00	\$1,400.00	\$1,440.00	\$1,440.00	\$4,000.00	\$4,000.00
	MOVE AND DISPOSE OF EXISTING TYPE "E" INLET TOP AND REPLACE TH TYPE "C' MANHOLE TOP, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$1,605.00	\$1,605.00	\$3,500.00	\$3,500.00
	ENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE UBILEE SECTION 11 STORM SEWER ITEMS	LF	2660	\$0.05	\$133.00 \$375,348.00	\$0.10_	\$266.00 \$402,622.65	\$0.01	\$26.60 \$610,026.60
1. RO	TION 11 PAVING ITEMS ADWAY AND LOT EXCAVATION, INCLUDES STRIPPINGS, STOCKPILING OF RIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	5113	\$2.65	\$13,549.45	\$2.30	\$11,759.90	\$4.00	\$20,452.00
OF	ADWAY AND LOT EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, IAL GRADING AND RE-APPLICATION, COMPLETE IN PLACE	CY	5113	\$2.65	\$13,549.45	\$3.80	\$19,429.40	\$3.00	\$15,339.00
	REINFORCED CONCRETE PAVEMENT, MIN. 3,000 PSI COMPRESSIVE RENGTH, COMPLETE IN PLACE	SY	11533	\$50.15	\$578,379.95	\$50.20	\$578,956.60	\$53.00	\$611,249.00
	LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN ACE	SY	13087	\$3.95	\$51,693.65	\$2.80	\$36,643.60	\$6.00	\$78,522.00
RE	DRATED LIME FOR STABILIZED SUB-GRADE (3% BY WEIGHT) AS QUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL GINEER, COMPLETE IN PLACE	TON	106	\$378.00	\$40,068.00	\$353.50	\$37,471.00	\$350.00	\$37,100.00
CO	/ ASH FOR STABILIZED SUB-GRADE (7% BY WEIGHT) AS REQUIRED BY SOIL INDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN ACE	TON	247	\$142.00	\$35,074.00	\$121.20	\$29,936.40	\$160.00	\$39,520.00
7. 4"	X12" CONCRETE CURB, COMPLETE IN PLACE	LF	5002	\$3.95	\$19,757.90	\$4.55	\$22,759.10	\$4.00	\$20,008.00
8. 6"	REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2001	\$3.95	\$7,903.95	\$4.55	\$9,104.55	\$4.00	\$8,004.00

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE AND PAVING FACILITIES AND APPURTENANCES TO SERVE JUBILEE SECTION 11
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 18, 2024
LIA ENGINEERING, INC.

LJA ENGINEERING, IN E. MURPHY DECEMBER 19, 2024 2542-2411 (9.2)

				1) CROSTEX COI	NSTRUCTION INC.	2) TEXAS KB	UTILITIES, LLC	3) CE BA	RKER LTD.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
 	NON- STANDARD TYPE 7 WHEELCHAIR RAMPS, AS PER EXHIBIT 'A', INCLUDES BRICK PAVERS, KEYSTONE CITYSCAPES ADA 4" X 8" 60MM THICK ADA-COMPLIANT TRUNCATED DOMES, (CHARCOAL COLOR AS DETERMINED BY DEVELOPER), COMPLETE IN PLACE	EA	6	\$2,100.00	\$12,600.00	\$1,615.00	\$9,690.00	\$2,500.00	\$15,000.00
10. F	REMOVAL AND DISPOSAL OF TYPE III BARRICADE, COMPLETE IN PLACE	EA	3	\$210.00	\$630.00	\$50.00	\$150.00	\$500.00	\$1,500.00
	DOUBLE REFLECTORIZED BLUE FIRE HYDRANT BUTTONS, COMPLETE IN PLACE	EA	7	\$16.00	\$112.00	\$8.10	\$56.70	\$15.00	\$105.00
I F	PERMANENT TRAFFIC CONTROL DEVICES, DETAILS AS PER EXHIBIT 'A', INCLUDES NON-STANDARD SIGNAGE AND POLES, ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS, COMPLETE IN	LS	1	\$10,500.00	\$10,500.00	\$9,595.00	\$9,595.00	\$10,000.00	\$10,000.00
	DI ACF L JUBILEE SECTION 11 PAVING ITEMS			-	\$783,818.35	_	\$765,552.25	-	\$856,799.00
MISCELLA	NEOUS ITEMS								
	EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	100	\$30.00	\$3,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
2. 9	STAGE I INLET PROTECTION BARRIERS, COMPLETE IN PLACE	EA	20	\$100.00	\$2,000.00	\$40.00	\$800.00	\$150.00	\$3,000.00
	BROADCAST SEEDING (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$650.00	\$650.00	\$650.00	\$650.00	\$650.00	\$650.00
	HYDROMULCH SEEDING (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
((F	DEWATERING (GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCTION OF UTILITY LINES, ALL LINE SIZES AND DEPTHS, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY TYPE OF PUMPING AS NECESSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
ι	WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR STORM SEWER, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
F	WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR SANITARY SEWER AS PER CITY OF HOUSTON DRAWING NO. 02317-01 (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
i	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDING STREET SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE	LS	1	\$4,677.35	\$4,677.35	\$2,100.00	\$2,100.00	\$1,000.00	\$1,000.00
(CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LS	1	\$1.00	\$1.00	\$2,100.00	\$2,100.00	\$1,500.00	\$1,500.00
ι	CRUSHED STONE SUPPORT FOR MANHOLE IN UNSTABLE SUBGRADE (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PACE	EA	5	\$5.00	\$25.00	\$5.00	\$25.00	\$5.00	\$25.00
	EXTRA REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$3.00	\$300.00	\$2.00	\$200.00	\$3.00	\$300.00

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE AND PAVING FACILITIES AND APPURTENANCES TO SERVE JUBILEE SECTION 11
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 18, 2024

LJA ENGINEERING, INC. E. MURPHY DECEMBER 19, 2024 2542-2411 (9.2)

			1) CROSTEX CO	NSTRUCTION INC.	2) TEXAS KB U	JTILITIES, LLC	3) CE BARI	KER LTD.
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
 EXTRA STAGE I INLET PROTECTION BARRIERS, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE 	EA	1	\$100.00	\$100.00	\$40.00	\$40.00	\$150.00	\$150.00
13. EXTRA STAGE II INLET PROTECTION BARRIERS, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$100.00	\$100.00	\$90.00	\$90.00	\$150.00	\$150.00
14. UTILITY SPOILS REMAIN ON SITE, INCLUDES STRIPPING, STOCK PILING OF STRIPPINGS, PLACEMENT & COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$35,122.15	\$35,122.15	\$2,500.00	\$2,500.00
15. EXTRA DUCTILE IRON FITTINGS (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	TON	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
16. SURFACE WATER CONTROL AND PUMPING, INCLUDES ALL PUMPING TO COMPLETE PROJECT, COMPLETE IN PLACE	LS	1	\$2,000.00	\$2,000.00	\$100.00	\$100.00	\$5,000.00	\$5,000.00
 CONSTRUCTION STAKING FOR WS&D CONSTRUCTION BY THE CONTRACTOR PER GENE BAKER, GBI SURVEYING, CONTACT 281-499-4539 FOR PRICING, COMPLETE IN PLACE 	LS	1	\$15,000.00	\$15,000.00	\$14,115.00	\$14,115.00	\$14,115.00	\$14,115.00
18. CONSTRUCTION STAKING FOR PAVING CONSTRUCTION BY THE CONTRACTOR PER GENE BAKER, GBI SURVEYING, CONTACT 281-499-4539 FOR PRICING, COMPLETE IN PLACE	LS	1	\$6,500.00	\$6,500.00	\$5,875.00	\$5,875.00	\$5,875.00	\$5,875.00
19. EXTRA 4-INCH STRIPING (ALL COLORS), (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$11.00	\$1,100.00	\$2.05	\$205.00	\$5.00	\$500.00
20. EXTRA RAISED PAVEMENT MARKER (WHITE OR YELLOW), (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	50	\$11.00	\$550.00	\$9.10	\$455.00	\$10.00	\$500.00
21. EXTRA STREET AND TRAFFIC SIGNS, DETAILS AS PER EXHIBIT 'A', INCLUDES NON-STANDARD SIGNAGE AND POLES, ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,260.00	\$1,260.00	\$1,475.00	\$1,475.00	\$1,000.00	\$1,000.00
22. TEMPORARY TRAFFIC CONTROL DEVICES (INCLUDING ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS) COMPLETE IN PLACE	LS	1	\$1,575.00	\$1,575.00	\$860.00	\$860.00	\$1,000.00	\$1,000.00
23. FINAL LOT GRADING, COMPLETE IN PLACE	LS	1	\$10,500.00	\$10,500.00	\$18,610.00	\$18,610.00	\$10,000.00	\$10,000.00
24. AS-BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS AND LOT CORNERS (67 LOTS TOTAL), AS PERFORMED BY GENE BAKER GBI SURVEYING, CONTACT 281-499-4539, FOR PRICING, INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEY OR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, (TO BE USED ONLY ATTHE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LS	1	\$5,200.00	\$5,200.00	\$4,800.00	\$4,800.00	\$4,800.00	\$4,800.00
25. 6" PVC IRRIGATION SLEEVES, SCHEDULE 40, PER PLANS, COMPLETE IN PLACE	LF	192	\$37.00	\$7,104.00	\$40.40	\$7,756.80	\$25.00	\$4,800.00
SUBTOTAL MISCELLANEOUS ITEMS			-	\$77,142.35	_	\$102,878.95	_	\$64,365.00
BID SUMMARY								
JUBILEE SECTION 11 WATER ITEMS				\$202,193.65		\$205,974.40		\$215,698.13
JUBILEE SECTION 11 SANITARY SEWER ITEMS				\$326,497.65		\$363,971.75		\$603,938.49

FRN F-1386 LJA Engineering, Inc. BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE AND PAVING FACILITIES AND APPURTENANCES TO SERVE JUBILEE SECTION 11 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477

CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS

DECEMBER 18, 2024

LJA ENGINEERING, INC. E. MURPHY

DECEMBER 19, 2024 2542-2411 (9.2)

				1) CROSTEX CONSTRUCTION INC.		2) TEXAS KB UTILITIES, LLC		3) CE B	ARKER LTD.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
JUBILEE SECT	ION 11 STORM SEWER ITEMS				\$375,348.00		\$402,622.65		\$610,026.60
JUBILEE SECT	ION 11 PAVING ITEMS				\$783,818.35		\$765,552.25		\$856,799.00
MISCELLANEOUS ITEMS				\$77,142.35			\$102,878.95		\$64,365.00
TOTAL AMOUNT BASE BID				\$1,765,000.00		\$1,841,000.00		\$2,350,827.22	